UGC NET 2022 BODO

Topic:- 094_S1_PART_A

) maw af wEisn w R TEEEE T e a3 st gty semm) et s e
[Question ID = 1][Question Description = 101_94_Bodo_SEPT22_Q01]
1. gy

[Option ID = 1]

2 ¥
©THGH SR

[Option ID = 2]
3. fawy wETs e

[Option ID = 3]
4 fmmm

[Option ID = 4]

2) e g @Y e et el 27 v gea
[Question ID = 2][Question Description = 102_94_Bodo_SEPT22_Q02]
1. st i W

[Option ID = 5]
2. Folk-songs of the Bodos

[Option ID = 6]
3. w2’ wailt sH-TEE

[Option ID = 7]
4. @z’ T fR-om

[Option ID = 8]

%) srerma Frm ST S e s @ A e = s

[Question ID = 3][Question Description = 103_94_Bodo_SEPT22_Q03]
1. g HeTEE] e AW S T

[Option ID = 9]

)
[Option ID = 10]
3. G T BATSE Oe o A

[Option ID = 11]
4. T HETSE T TR AR T

[Option ID = 12]

4 sufa Folklove' Hrrma! AT Ty Fig wEEiE aEEeEE ¢

[Question ID = 4][Question Description = 104_94_Bodo_SEPT22_Q04]
- Jawaharlal Handoo

[Option ID = 13]



2. R.M. Dorson
[Option ID = 14]
3. Birendra Nath Datta

[Option ID = 15]
4. William Jhon Thoms.

[Option ID = 16]

) I AR E ReE e Bl o M 0 - R A e 2
[Question ID = 5][Question Description = 105_94_Bodo_SEPT22_Q05]
1. fafgpmis s i waEEE

[Option ID = 17]

[Option ID = 18]
3. T EEE FEEAE

[Option ID = 19]

[Option ID = 20]

6)

=0 TR AT AT A A T G| TR w6 g ¥ g 54 0

[Question ID = 6][Question Description = 106_94_Bodo_SEPT22_QO06]

1 p [l o)
- B9 I HETERIE B0

[Option ID = 21]
2. gw'z wE 2 AgE

[Option ID = 22]
3. T ww =g AT

[Option ID = 23]
4, TR =4 AEEE EE

[Option ID = 24]

7)

St 1920 HEAEHE 59 drEEAE S149AE SEry iy w1 e 61

[Question ID = 7][Question Description = 107_94_Bodo_SEPT22_Q07]
1 gt wEa

[Option ID = 25]

2. wEH AfEE T

[Option ID = 26]

3. Sy HaE

[Option ID = 27]

4. gfesitty w ot
[Option ID = 28]
8) FUE-FEE FETEAE AW UA 5 9= 76 ST SR S99 aErE 49eE g ¢

[Question ID = 8][Question Description = 108_94_Bodo_SEPT22_Q08]



1. TR

[Option ID = 29]
2. T

[Option ID = 30]
3 [t | 1

[Option ID = 31]
4. Wﬂ

[Option ID = 32]

9)  geens wAty femrm A 9F 99w YAes e e ame
[Question ID = 9][Question Description = 109_94_Bodo_SEPT22_Q09]
1. ]Igrm a—{’

[Option ID = 33]

2. e
[Option ID = 34]
3. Fai mee w
[Option ID = 35]
4 Ty

[Option ID = 36]

10) jsem wistEgE AREEE o SHESE TEE] AW @ SEE BEEE T SUEin) | EEE THE
q=7 |1 ATY

[Question ID = 10][Question Description = 110_94_Bodo_SEPT22_Q10]

1. =2 377 BTy

[Option ID = 37]

2. =% it feEr-fean
[Option ID = 38]

3 2= am B A
[Option ID = 39]

4. d_"':'\:- -_H]—EI 5 ]g' l 4

[Option ID = 40]

LRI it Bt et e e e B | i e | 2t et R e || e i ool Bt
3 = g5 e gET g E?
[Question ID = 11][Question Description = 111_94_Bodo_SEPT22_Q11]
1. S =l ‘w1 Fierma s o mmr
[Option ID = 41]
2. a1 Tees AN FOEE EEe S TR s
[Option ID = 42]
3. _l:l:r! = = q."‘- ﬁ 1 3T|'7-:E 3 E{n
[Option ID = 43]
4 3z fefr ‘w0 Siwama @ v e agEATE EEE gEea

[Option ID = 44]



12) e dmam wtE FER sEM AW §E S99 AW WA OETE AW AEEE SR SEmi
WA 5l g% Eel 4 g9t At

[Question ID = 12][Question Description = 112_94_Bodo_SEPT22_Q12]

1. WM s g
[Option ID = 45]
2. I

[Option ID = 46]

3. o’ FEmpl ww
[Option ID = 47]
4. wEE TF EEEE

[Option ID = 48]

13)  ygers Tatsimionr Z9fs FEAEE SHUH TEE AETEE TEG| S TeAE Wi e gEE | 6

e i © o
[Question ID = 13][Question Description = 113_94_Bodo_SEPT22_Q13]
I i

[Option ID = 49]
2. 'y

[Option ID = 50]
3. wEd

[Option ID = 51]

4. ZmaifH

[Option ID = 52]

14) gy o’ Tl TR i@ A W SR T | s a1

[Question ID = 14][Question Description = 114_94_Bodo_SEPT22_Q14]
1. wfeg A

[Option ID = 53]
2. W

[Option ID = 54]
3. =eEE

[Option ID = 55]

4. Taw=aTy FHienTs
[Option ID = 56]
15)  TEEE FHERFTE HEAER HEYH @ (three unity) @ AEE 1w

[Question ID = 15][Question Description = 115_94_Bodo_SEPT22_Q15]
1. Unity of Time, Place and Action

[Option ID = 57]
2. Unity of Character, Action and Plot

[Option ID = 58]
3. Unity of Plot, Action and Place

[Option ID = 59]



4. Umty of Character, Plot and Place
[Option ID = 60]
16) ‘m=ems@El AW Metrical Composition’ SEHE 7

[Question ID = 16][Question Description = 116_94_Bodo_SEPT22_Q16]
1. P.B. Shelley

[Option ID = 61]
2. Macaulay

[Option ID = 62]
3. Leigh Hunt

[Option ID = 63]
4. Johnson

[Option ID = 64]
17)  ewfe qra= 21 Q@EEt SEEaT THE TEErE] STEEaE SEEE A W w5 ge ¢

[Question ID = 17][Question Description = 117_94_Bodo_SEPT22_Q17]

(R
[Option ID = 65]
2. El SEE

[Option ID = 66]

3. T T

[Option ID = 67]
4. TOEAE A EEE

[Option ID = 68]

18) Roman Jacobson (1959) 31 TEASEAEAEE! THATT STEFTSE THATRT| =& o8 T84 Jacchson 31
[Question ID = 18][Question Description = 118_94_Bodo_SEPT22_Q18]
1. Intralimeual

[Option ID = 69]
2. Interlingual

[Option ID = 70]
3. Imtrasemiotic

[Option ID = 71]
4. Intersemiotic

[Option ID = 72]

19) FEuTEANT e WEE HAE 35 AEE] A A B SEATA AesE AMes o aiEng) '3

e
[Question ID = 19][Question Description = 119_94_Bodo_SEPT22_Q19]
1. Henry Gifford

[Option ID = 73]
2. Goethe

[Option ID = 74]



3. Croce

[Option ID = 75]
4. Rene Wellek

[Option ID = 76]
20)  w'f ZA ST S g8 FUTER ST S5 AEE e aeE 51 5w
[Question ID = 20][Question Description = 120_94_Bodo_SEPT22_Q20]

[Option ID = 77]

2. [raHA #ET

[Option ID = 78]
3. g S

[Option ID = 79]

4. TE-ETET SR ES S g
[Option ID = 80]
21) ' 1afy & |G (basic vocabulary) BT T REmig=T ASD=E HISEET 71277 7

[Question ID = 21][Question Description = 121_94_Bodo_SEPT22_Q21]

1. s fEmty
[Option ID = 81]
2. o framtE
[Option ID = 82]

[Option ID = 83]

4 difa fmmfa

[Option ID = 84]

22) o' T e A WA TrEm et aweEE
[Question ID = 22][Question Description = 122_94_Bodo_SEPT22_Q22]
1. @E-T B

[Option ID = 85]
2. mfoEE g
[Option ID = 86]

[Option ID = 87]

[Option ID = 88]

23) o FETERE 98 WA 29 9Tl WEE (open class word) T aTErTIaE e T 7

[Question ID = 23][Question Description = 123_94_Bodo_SEPT22_Q23]
1. 'T:n'

[Option ID = 89]



2 5
[Option ID = 90]

3. maiw (Conjunction)

[Option ID = 91]

4. wEaEET (Exclamation)

[Option ID = 92]
24) =’ TEE HEETE DEEE TS SEEE WS T AR Fer T SEaEn 5 WeaREEs Jier
[Question ID = 24][Question Description = 124_94_Bodo_SEPT22_Q24]

1. =

[Option ID = 93]
2. ™

[Option ID = 94]
3. q

[Option ID = 95]
4. 5

[Option ID = 96]

25) =’ Tyt W SrATE TEAET HIEAT — WESET - A (S - O - V) S| e fEe w e e
I~ HT - AT51 TH] T SEUE 757 7

[Question ID = 25][Question Description = 125_94_Bodo_SEPT22_Q25]
1. Preposition 7 S&Eam™

[Option ID = 97]
2. Post-position M =ErEEE

[Option ID = 98]

3. R 5_- ] E-q-rﬁ i:‘ M=Td FJ414
[Option ID = 99]
4. e B SR
[Option ID = 100]
26) TMERETE FEEEAA S8 FEGT A G BATT AU T
[Question ID = 26][Question Description = 126_94_Bodo_SEPT22_Q26]
1. ZEEYEER ST

[Option ID = 101]
2. Zmy \AW Glottal Stop ™ wEEAH
[Option ID = 102]

3. 1o i s fsamE EsE w1

[Option ID = 103]
4. HrEmEE | AIEAIE "R SiendAE (Subject verb Agreement/Concord relation)

[Option ID = 104]

27)  Mutual intelligibility SierT Tt 58 TEE SEE G T

[Question ID = 27][Question Description = 127_94_Bodo_SEPT22_Q27]



1. W=

[Option ID = 105]

2. HEEIE

[Option ID = 106]

3. arETE

[Option ID = 107]

4. TEEEEE

[Option ID = 108]

28)  fommm—wrall T/ FIEANA 3 SISA] SEEA] AEN AEEEE @ 96 08 S TEEE 9 6w
[Question ID = 28][Question Description = 128_94_Bodo_SEPT22_Q28]
1 e

[Option ID = 109]
2. —g'ﬁ_ag

[Option ID = 110]

[Option ID = 111]

[Option ID = 112]

29) TEEM "8 FEE SHE ATE-EEAEE e
[Question ID = 29][Question Description = 129_94_Bodo_SEPT22_Q29]
1. Sr==m

[Option ID = 113]
2. @
[Option ID = 114]

B

3. AT

[Option ID = 115]
4. m

[Option ID = 116]

30) e gaeT A AT AT TEET S A S 7

[Question ID = 30][Question Description = 130_94_Bodo_SEPT22_Q30]
1. aymETs

[Option ID = 117]

[Option ID = 118]
3. 4[3"@.. g -

[Option ID = 119]

4 gEtEEE

[Option ID = 120]

3 ' wEr st whEf a5 T e e



[Question ID = 31][Question Description = 131_94_Bodo_SEPT22_Q31]

[Option ID = 121]
2. SATEW -] T WS A5 HETSEE SE

[Option ID = 122]
3 - T A

[Option ID = 123]
4. FET-EEET SRR S

[Option ID = 124]

32)  crerfy s deE s St SaTe wTgaeE! R w A

[Question ID = 32][Question Description = 132_94_Bodo_SEPT22_Q32]
[Option ID = 125]

2. THIfE AU FEE-AEEEA RS

[Option ID = 126]

TR T . iy
3. TATed SHTTE] AT —TEEAT TAETE B

[Option ID = 127]
4. THIer SENE TateE, S, THATE AT A - AT

[Option ID = 128]

33) ' wifmb A A T EmEEEE T A SEE s w8 gEE S e ) wea
= EA AT T gy

[Question ID = 33][Question Description = 133_94_Bodo_SEPT22_Q33]

1. HETE - gE e

[Option ID = 129]
2. qH — | gHETE

[Option ID = 130]
3. HW - wHE §EE

[Option ID = 131]
4. EIE - T FETE

[Option ID = 132]

34)  grrata g fawreTa wEE TR SEE W OAE BEER W w0 SR e as
[Question ID = 34][Question Description = 134_94_Bodo_SEPT22_Q34]
1 o A wE

[Option ID = 133]
2. Al ST EETA

[Option ID = 134]

3. sl s T
[Option ID = 135]

4 g s T

[Option ID = 136]



35) oy m o A A S S BEEE A Al S R aaiETn e g v

[Question ID = 35][Question Description = 135_94_Bodo_SEPT22_Q35]

1 I

]

[Option ID = 137]
2. 'T_’: iF;_E:[ =

[Option ID = 138]
3. @

[Option ID = 139]
4. Fg'mm

[Option ID = 140]

[Question ID = 36][Question Description = 136_94_Bodo_SEPT22_Q36]
1. gEA AEE A

s

[Option ID = 141]
2. qqq—rh TATEEEST

[Option ID = 142]

3. @TFQ? EHIeATETE GiSHT —G13 =T s =14 rrl
[Option ID = 143]
4 RS

[Option ID = 144]

37)  wvrg’ wransT TEEE g A 9w

[Question ID = 37][Question Description = 137_94_Bodo_SEPT22_Q37]

1. faay

[Option ID = 145]

[Option ID = 146]

3. s

[Option ID = 147]
4. 91491

[Option ID = 148]

38) v wEE A TR wREE T A A E
[Question ID = 38][Question Description = 138_94_Bodo_SEPT22_Q38]
1. =

[Option ID = 149]
2. g

[Option ID = 150]
3. 1% - REEE

[Option ID = 151]
4. T



[Option ID = 152]

39) mrm - sy T AEA FEEA ST i S A s e w6 s
[Question ID = 39][Question Description = 139_94_Bodo_SEPT22_Q39]
1. STm - Y

[Option ID = 153]
2.

[Option ID = 154]

3. T

[Option ID = 155]
4 -
© THHEE

[Option ID = 156]

40) sy w8 DTN ST SETEAES 4TS = A

[Question ID = 40][Question Description = 140_94_Bodo_SEPT22_Q40]
1. fefesmt e =g o
[Option ID = 157]
2. fegrenls = e
[Option ID = 158]
3. mrfaEnE IOEE

[Option ID = 159]
4. WHET

[Option ID = 160]

A1) TEETE BETEEEA S S S e § 6

(&) wEg S (B) TFHT FEEANT
(C) = AT HETE AW HEh (D) =I5 wigE fiwars

[Question ID = 41][Question Description = 141_94_Bodo_SEPT22_Q41]
1. (A) &AW (C) 31

[Option ID = 161]
2. (A) @R (D) ==

[Option ID = 162]
3 (B) w (D) ¥
[Option ID = 163]

4. (B) =W (C) =714

[Option ID = 164]

42)  wrEETE SETEEEE wE e TEEA e AEe oA

(A) Folkloristice and Indian Folklore (B) American Folklore
(C) Peter J. Claus and Frank J. Korom (D) Jawaharlal Handoo



[Question ID = 42][Question Description = 142_94_Bodo_SEPT22_Q42]
1. (A) &7 (C) 7=

[Option ID = 165]
2. (A 3 E (D) AT

[Option ID = 166]
3. (B) =W (D) = E

[Option ID = 167]
4. (C) =m (D) 3

[Option ID = 168]

43) s TR W s TS T A e

(&) Outline Grammar of Kachari (Bara) Language
(B) Rev, L.O, Skrefzrud

(C) 1884
@) 1911

[Question ID = 43][Question Description = 143_94_Bodo_SEPT22_Q43]
1. (A) 51m (B) e

[Option ID = 169]
2. (A A (D) s
[Option ID = 170]
3. (A) &l (C) e
[Option ID = 171]

4. (B) =W (C) &=

[Option ID = 172]

44) T BETER S8 SsE TEEATE HHE S 9

(&) FEEEm (B "HmE s
(C) T wEE (D) =R
T TEEl A

[Question ID = 44][Question Description = 144_94_Bodo_SEPT22_Q44]
1. (A) 5T (D) =

[Option ID = 173]
2. (B) &AW (C) ==

[Option ID = 174]
3. (B) =W (D) @A

[Option ID = 175]
4. (A) =T (C) 317

[Option ID = 176]



EREE—

45) e EETEAN 79w TEEE et 1o

(A) Tl s=ew (B) e
(C) =y ATafl (D) ®E=ETETS ST
T Tt we

[Question ID = 45][Question Description = 145_94_Bodo_SEPT22_Q45]
1. (A) =m0 (D) 37751

[Option ID = 177]
2. (B) #ml (D) =&

[Option ID = 178]
3. (A) =W (C) @

[Option ID = 179]
4. (C) =17 (D) =

[Option ID = 180]

46) e w8 T TEETE HiE=El & "
(A) Descriptive Ethnology of Benegal (By 1960
(C) Folk-zongs of the Bodos (D) 1980
T Tt @

[Question ID = 46][Question Description = 146_94_Bodo_SEPT22_Q46]
1. (A) =Hl (B) #7e

[Option ID = 181]
2. (A) =Wl (D) A=

[Option ID = 182]
3. (B) #° (C) #=

[Option ID = 183]
4. (C) Zm1 (D) ==

[Option ID = 184]

A7) mermE FATTER w8 e TS 2w S
(A) T = s (B) memH wE
(C) A1 |TaE ST (D) HIWTE FHEAn
T8 T T

[Question ID = 47][Question Description = 147_94_Bodo_SEPT22_Q47]
1. (A) 57 (B) 374

[Option ID = 185]

2. (B) & (C) =
[Option ID = 186]

3. (C) @ (D) 3=
[Option ID = 187]

4. (B) @AW (D) s



[Option ID = 188]

48)  arermE AR A S TESTE =l T WaE
(A)  oEs mTE
(B)  wTiTf ATSTANTAR AT s 0w
(C)  ZEwEE fwa
(D) AT TEE SATASTE TEA FAEE S S gs we

[Question ID = 48][Question Description = 148_94_Bodo_SEPT22_Q48]
1. (A) #1 (B) 371
[Option ID = 189]
2. (B) =] (C) =11
[Option ID = 190]
3. (€)= (D) 3=
[Option ID = 191]
4. (A) AT (D) =

[Option ID = 192]

49)  ErE BATERE W S TEAT e e

(A)  FIEITENR gEEE (B) uripeH @ierErer (Pakistan School)
(C) TiEEH AeEte (Russian School) (D) = H=ETE (Japanese School)

[Question ID = 49][Question Description = 149_94_Bodo_SEPT22_Q49]
1. (A) &7 (B) 319

[Option ID = 193]
2. (A) WA (C) ==

[Option ID = 194]
3. (C) = (D) =

[Option ID = 195]
4. (By=#ml (C) =

[Option ID = 196]

50) e BT R A T A S

(A)  FmOEE (B) Fmm fatw
(C) 19745 Dy 1990
T e mEE

[Question ID = 50][Question Description = 150_94_Bodo_SEPT22_Q50]
1. (A) 3w (D) 37

[Option ID = 197]
2. (C) #FT (D) 3=

[Option ID = 198]



3. (B) #W (D) 3=

[Option ID = 199]
4 (A) 3 (C) =

[Option ID = 200]

(A) Ode (B) Elegy
(C) Flat and round characters (D) Eszaaw
;Ia‘_ [ 2 : [ ;

[Question ID = 51][Question Description = 151_94_Bodo_SEPT22_Q51]
- (A) T (B) W
[Option ID = 201]
2. (A) =W (C) W
[Option ID = 202]
3. (B) AW (C) I
[Option ID = 203]
4 (C) = (D) F=

[Option ID = 204]

52) e BEEEEH W8 SsET MEARTE dEE © 9EE

(A)  UietersH (Parallelism) (B) TZ/Em (Satire)
(C)  =ZrE9 (Type) (D) #Fzr= (Contrast)

[Question ID = 52][Question Description = 152_94_Bodo_SEPT22_Q52]
T (A) FmE(B) s

[Option ID = 205]
2. (B) #AT (D) W7

[Option ID = 206]
3. (C) =T (D) ==

[Option ID = 207]
4. (A) =W (D) A=A

[Option ID = 208]

53)  wrEEmE BEEERE w4 ST TMEETE @A L EEE
(A)  HTA (B) ==
(C) feamEs (D) o

[Question ID = 53][Question Description = 153_94_Bodo_SEPT22_Q53]
T (A) 3 (B) #E

[Option ID = 209]
2. (B) =mT (C) s



[Option ID = 210]
3. (C) wFT (D) W&

[Option ID = 211]
4. (D) #WT (A) 3=

[Option ID = 212]

54) T ERTIERE @ S MEETTE SE S A9
(A) =iy mEEd (B) =TEH THE SEE
(C) = =ETH as (D) ==

[Question ID = 54][Question Description = 154_94_Bodo_SEPT22_Q54]
1. (A) smi (B) s
[Option ID = 213]
2. (B) #W (C) =1
[Option ID = 214]
3. (A) =t (D) s
[Option ID = 215]
4. (C) =TT (D) A

[Option ID = 216]

- S - Ao '
35) e SEATFRIE &8 S8 211 TeE0-E J@HSD & 3=

(A) qWH — T3 (B) &=
(C) - (D) =EE-=E
HER (e o

[Question ID = 55][Question Description = 155_94_Bodo_SEPT22_Q55]
1. (A) AW (B) &=
[Option ID = 217]
2 (A) 3T (C) 3=
[Option ID = 218]
3. (C) s (D) &1
[Option ID = 219]
4. (B) = (C) e

[Option ID = 220]

Ay = (By 1
(C) 7 (Dy =
T e A

[Question ID = 56][Question Description = 156_94_Bodo_SEPT22_Q56]
1. (A) 3w (B) 374



[Option ID = 221]

2. (B) =l (C) @
[Option ID = 222]

3. (B) 31T (D) =
[Option ID = 223]

4. (A) @E (D) e

[Option ID = 224]

57)  sierET EETEERT S wE WA @ A
(A) FemEiha (B) Trom FuE
(C) TEETE (D) ¥ F1 (marginal element)

& a3
[Question ID = 57][Question Description = 157_94_Bodo_SEPT22_Q57]
1 (A) AT (B) o

[Option ID = 225]
2. (A wE (D) AT

[Option ID = 226]

3. (B) w1 (C) W=

[Option ID = 227]
4. (B) =W (D) #A

[Option ID = 228]

58)  aEEE EREERE T s TEEE gEE S 9
(A) -Am (B) - %1
{C) 1 Dy -3
T4 {rt wrE

[Question ID = 58][Question Description = 158_94_Bodo_SEPT22_Q58]
T (A 317t (B) 33

[Option ID = 229]
2. (A) #WT(C) e
[Option ID = 230]

3. (B) #\R (C) o

[Option ID = 231]

4. (C) mit (D) s
[Option ID = 232]
59)  wremmE SEmEEnl sE SR TEETE G E
(A) 'flTj (B) TEE
(C) fman (D) ===

™ FE W



[Question ID = 59][Question Description = 159_94_Bodo_SEPT22_Q59]
1. (A) = (B) a1l
[Option ID = 233]
2. (By =W (C) =
[Option ID = 234]
3. (C) = (D) ==
[Option ID = 235]
4. (D) #1 (B) @

[Option ID = 236]

3 Ao A A ¥ W ’
60) rEEE EETEERA S8 SAE TEATE WiEE § @

(A)  IFHEE (B) e amaran s
(€ EhEEE (D) T AT gl

B W T e,

e THAE HEE

[Question ID = 60][Question Description = 160_94_Bodo_SEPT22_Q60]
1. (Ay =7 (B) #17

[Option ID = 237]
2. (B) 3wl (C) ==t

[Option ID = 238]
3. (C) = (D) w=

[Option ID = 239]
4. (A) = (D) 3

[Option ID = 240]

61)  wrerE FEEER w6 WS TEEE #EE f EEE

(A)  TEEY BEE (B) &R Wl WEEE
(C)  wTHER AT TEET (D) HEEF AR TEEE

[Question ID = 61][Question Description = 161_94_Bodo_SEPT22_Q61]
1. (A) 5 (B) 31

[Option ID = 241]

2. (@) = (D) S
[Option ID = 242]

3. (A) =W (C) =T
[Option ID = 243]

4. (By#ml (D) s

[Option ID = 244]



62)

- -~ . - s s y
TTEMEE EATEFERRAE =8 '6 = 1 TSP "JHG] & §iJ303

(A) smrre = ae (B) T T WA
(C) T/ g (D) = BEEE
™ TFE W

[Question ID = 62][Question Description = 162_94_Bodo_SEPT22_Q62]
1. (A) AW (C) 37

[Option ID = 245]

2. (B) smwl (D) @
[Option ID = 246]

3. (C) = (A) B
[Option ID = 247]

4. (A) 90T (B) I

[Option ID = 248]

63)  remm FRTEER @ S TESTE A E aEE
(4) =g A (B) wmiaman
(C) =7 zFE (D) AER FEE

[Question ID = 63][Question Description = 163_94_Bodo_SEPT22_Q63]
1 (A) W (C)
[Option ID = 249]
2. (B) @n (D) w1
[Option ID = 250]
3. (C) =T (D) W=
[Option ID = 251]
4. (A) =W (D) F=

[Option ID = 252]

64) e ,;\H[q'-i;.]dj-.-l Erq’ G Lo Tﬂa—-ﬂ:r'l'l?q' T{_TFI'E?:? Fj P.’]T'I'Ei: 3

(&) ATEH (B) 1T
(€) 7w (D) HHEEE TREEAE A
T TFEl "

[Question ID = 64][Question Description = 164_94_Bodo_SEPT22_Q64]
1. (A) 571 (B) 51
[Option ID = 253]
2. (C) =W (D) 377
[Option ID = 254]
3. (B) =W (A) #E
[Option ID = 255]
4 (A) = (D) #ne



[Option ID = 256]

65) e EETEEEA T8 w1 MEEE THE E 99
(&)  FAEA Tl (B) T A
(©) (D) ==

[Question ID = 65][Question Description = 165_94_Bodo_SEPT22_Q65]
1. (A) 377 (B) 31t
[Option ID = 257]
2. (A) 3T (C) I
[Option ID = 258]
3. (B) =l (C) =
[Option ID = 259]
4. (C) =m (D) =

[Option ID = 260]

%6) fufe1 w e 1 i AR

I Taf-II
(A) == (D)  HA AW MAT EEE WA A9
(B) T (D) FEW S0 SEE A g
(C) Tmy (1) SR =58 TET 99 B BEEaE
T war
D) T (IV) T@sms =RT 5@ T Hel RS G HATS

[Question ID = 66][Question Description = 166_94_Bodo_SEPT22_Q66]
- (A)(IV), (B)-(IID). (C)-(D). (D)-(ID)

[Option ID = 261]
2. (A)-(IT). (B)-(I), (C)-(IID), (D)-(IV)

[Option ID = 262]
3. (A)-(D). (B)-(IV), (C)-(ID), (D)-(IIT)

[Option ID = 263]
4. (A)IT), (B)-(IIL). (C)-(IV), (D)-(D)

[Option ID = 264]



67)  fafi 1= fofe 11 = i FAt e

faft-1 (g TRf-IT (g /e )
(A)  Fy A () = TR EEE 3
(B) wEEEEE JATE (I) 547 FEAEE FRFRRE S=E
m‘d N T W" T HD"T]T{" mﬂ =
(C) == (1) =Tieft ZreenTs e S s
(D) THET fam (IV) &0 - WEEE TR A SERTE
'L% - - f % ‘:

[Question ID = 67][Question Description = 167_94_Bodo_SEPT22_Q67]
1. (A)(ID. (B)-(T), (C)-(TV), (D)-(IT)

[Option ID = 265]
2. (A)-(IV), (B)-(IID). (Cy-(II). (D)-(I)

[Option ID = 266]
3. (A)(DD), (B)-(IV), (C)-(I1T), {D)-(1I)

[Option ID = 267]
4. (A)ID). (B)-(I). (Cy-(IV). (D)-(I1T)

[Option ID = 268]

%8)  fafe.1 @t fafe-I1 < v A
I eI
(A) = (1) W% TEE FEAH EEE wEe e
(B) wmEri (M) wrTe SaT T ST40E T
(C) =] (ITT) TS a5 T
(D) FrEAE g (IV) =i o= s

[Question ID = 68][Question Description = 168_94_Bodo_SEPT22_Q68]
1. (A)-(ID. (B)-(IV), (C)-(IID). (D)-D)

[Option ID = 269]
2. (A)-(D). (B)-I). (C)-(IV), (D)-(I1T)

[Option ID = 270]
3. (A)-TID). (B)-(IV). (C)-(IT), (D)- (I)

[Option ID = 271]
4 (A)-I), (B)-(II). (C)4IID), (D)-(IV)

[Option ID = 272]



69) fafi 1wt Tt I = o B T

-1 () T-II (e
(A) Comparative Literature () Van Tieghem
(B) An Essay on Dramatic Poesie (IIy Dryden
(C) Dizcriminations : Further concepts of (III) HAM Posnett
criticiem
(D) La Literature Comparee (IV) ERene Wellek

& T A
[Question ID = 69][Question Description = 169_94_Bodo_SEPT22_Q69]
T (A)-(IID). (B)-(ID), (C)-(IV). (D)-(I)

[Option ID = 273]
2. (A)-(T), (B)-(II). (C)-(IV), (D)-(T1T)

[Option ID = 274]
30 (A)-(IV). (B)-(I1D). (C)-(IT). (D)-(I)

[Option ID = 275]
4 (A)D), (B)-(IV). (C)-(I1T), (D)-(D)

[Option ID = 276]

70 o 3 [ .
) I at eI = T A T
fafr1 fafr 1L
(A) TOmmETE (). Code mixing
(B) TErgTa (I) 9Esns T & (Complement to
predicate verh) BEHET
(C)  samEn=g (1) Fromfasn &1 "eEmEEe
(D) TEE EEE (IV) == =

:'_.1% o 3 iz :
[Question ID = 70][Question Description = 170_94_Bodo_SEPT22_Q70]
T (A)(0), (B)-(III), (C)-(ID), (D)-(IV)
[Option ID = 277]
2. (AY-(IV). (B)-(I), (C)-(ID), (D}-(TID)
[Option ID = 278]
3.0 (A)-@V). (B)-(III). (C)-(II), (D)-(T)
[Option ID = 279]

4. (A)(ID. (B)-(IIL). (Cy-(Ih. (M)-(IV)

[Option ID = 280]



") a1 I = T EE

fafi-1
(A) WA s3I 7TE Biew
(B) TFwHeiH

(©) =wpa
D) ™

|l s

fafe-11
@ e
(IT) =FH 37 Fg9
(II) &far geari o7 JFeaE o 7 5
(IV) =73 Far SEEE T

[Question ID = 71][Question Description = 171_94_Bodo_SEPT22_Q71]

1.

2.

3.

4.

72)

(A)-(II), (B)-(D), (C)-(IV). (D)- (111}

[Option ID = 281]
(A)-(IL), (B)-(IV). (C)-(I). (D)-(IID)

[Option ID = 282]
(A)-(D), (B)-(III). (C)-(IV), (D)-(II)

[Option ID = 283]
(A)-(IIT), (B)-OV), (C)-(IT). (D)D)

[Option ID = 284]

ffe-1 =t fafe- I =i s 2 =g
a1
(A) iR
(B)
(C) T TS
(D) =T

;Iﬁ_r\ :-I |:

oI
() =
(I =7

(IIT) =913 71T

[Question ID = 72][Question Description = 172_94_Bodo_SEPT22_Q72]

1.

2.

3.

4.

(A)-(IT}, (B)-(III), (C)-(D). (D)-(IV)

[Option ID = 285]
{A)-(III). (By-(IV), (Cy-(II), (D)-(I)

[Option ID = 286]
(A)-(I), (B)-(II), (C)-(IV), (D)-(I11)

[Option ID = 287]
(A)-(IV). (B)-(D. (C)-(I1I). (D)-(II)

[Option ID = 288]



73) s 1 Faf I < e S T

fafr1 fafeII
(A) Tem g I AT
(B) T FEen (II) vATE AT HE
(C) i wa (ITT) 7= = AT
(D) w e (IV) w=emgitst =

[Question ID = 73][Question Description = 173_94_Bodo_SEPT22_Q73]
T (A)ID), (B)-(TID), (C)-(IV), (D)-(T)

[Option ID = 289]
2. (A)(D). (B)-(II), (C)-(III}, (D)-OIV)

[Option ID = 290]
3. (A)-(IV), (B)-(D), (C)-(IT). (D)-(TII)

[Option ID = 291]
4. (A)-III), (B)-(IV). (C)-(I), (D)-(IT)

[Option ID = 292]

74 nlf o3 EW ) = N3 1
) faf1 @ faf I o vt we A
T ferfII
(A) = () =4
(B) T (II) =9
(C) Trmmer (IIT) 77
(D) = (IV) ==
e TR J

[Question ID = 74][Question Description = 174_94_Bodo_SEPT22_Q74]
- (A)AD. (B)-IV). (O)-(1D). D)D)

[Option ID = 293]
2. (A)(D), (B)-(IIL). (C)-(IV), (D)-(I1)

[Option ID = 294]
3. (A)-II), (B)-(IV). (C)-(I), (D)-(I1T)

[Option ID = 295]
4. (A)-(IID), (B)-(IT), (C)-(IV), (D)-(I)

[Option ID = 296]



73) fafr 17 e 11 = e AT

fafI (ferfrir) Tfi- I (farms)
(A) = A (I),  An Eszav on criticiam
(B) #eFaws T (II) The Poetles
(C) THem meA (ITIT) Dhsecoveries
(D) =TS (IV) An Apoelogy for poetry

_;_‘ﬁ [ -'-1 .! :
[Question ID = 75][Question Description = 175_94_Bodo_SEPT22_Q75]
- (A)II), (B)-(IV), (C)-(D), (D)-(IT)

[Option ID = 297]
2. {A)(IID), (B)-(I), (C)-(IV), (D)-(1I)

[Option ID = 298]
3. {A)-(IV). (B)-(T), (C)-(I1T), (D)-(IT)

[Option ID = 299]
4 (AD. (B)-(IV). (C)-(11). (D)-(I)

[Option ID = 300]

76 3 IR o e W ) =, s = E [ £ i~
) o EIEGH A A TR S S e e i wnee
(&)  F3, TIEE GEA T G5 (B) 7T o 7w
(C) = =hEH um g (D) s\T =R 7
T4 [FE mEE

[Question ID = 76][Question Description = 176_94_Bodo_SEPT22_Q76]
- (B) (A) (D) (O)

[Option ID = 301]
2. (B) (A) (C) (D)

[Option ID = 302]
3. (A) (D) (B)(C)

[Option ID = 303]
4. (C) (D) (A) (B)

[Option ID = 304]

7 R M Dorson - #17 Folklore and Folklife Afnamgl it 59 s@risa 1957| s@] HT 5ie;

(A) Oral Literature or verbal art (BY Socal folk eustoms
(C) Physical folklife or material culture (D))  Performing folk arts
ﬁé’_ T r1 ; 1 :

[Question ID = 77][Question Description = 177_94_Bodo_SEPT22_Q77]

A (O B) D)

[Option ID = 305]
2. By (D) iC) (A

[Option ID = 306]



A BI DO

[Option ID = 307]
4 (D) (C) (A (B)

[Option ID = 308]

78)  sreTaTa BHTE HAMEE] SENSHATT AT S AT 5 A E0 AT

(A) = wAEH EEE TR =W e (B) g7e7s #El e
(C) e fatam it aman (D) AT TR TR

[Question ID = 78][Question Description = 178_94_Bodo_SEPT22_Q78]
1. (A) (D) (B) (C)

[Option ID = 309]
2. (D) (&) (C) (B)

[Option ID = 310]
3. (B) (D) (C) (&)

[Option ID = 311]
4. () (A) (D) (B)

[Option ID = 312]

79)  mrEmE wEE TEYEEE] T EEE TR A
(A) A g6 A (B) @
(C) o= = (D) T T
ﬂ’;l{‘?ﬂ@m‘

[Question ID = 79][Question Description = 179_94_Bodo_SEPT22_Q79]
T (A (C (D) (B

[Option ID = 313]
2. (D) (B () (A

[Option ID = 314]
. (B (Cy (A (D)

[Option ID = 315]
4. (C)(B) D) (A

[Option ID = 316]

80) ‘o e IR TR ST ST STETE T

(A) = (B) Tomm @
(Cy = HETE (D) =Em
T (P aE

[Question ID = 80][Question Description = 180_94_Bodo_SEPT22_Q80]
T (A)(C) B) (D)

[Option ID = 317]
2. (C)(B) (Dy (A)



[Option ID = 318]
3. (B) (A () (D)

[Option ID = 319]

4 MO By

[Option ID = 320]

81) TEAEE BET SEEFAA TRETEE TE0aes F1 JrSEEEE e
(A) = (B) =
(Cy =TT =@ (D) =T =

[Question ID = 81][Question Description = 181_94_Bodo_SEPT22_Q81]
1. (B) (D) (C) (A)

[Option ID = 321]

2 (A D)y iB)

[Option ID = 322]

3. (BYC) (D) (A

[Option ID = 323]

4. (D) (C) (A) (B)

[Option ID = 324]

82) o foonm T wreh famTE AT TR EAE SETETET TS TR Wi weE
(&) w - (B) #ATHM - WA
(C)  Tresm — wmHE D) =
TS TFAE A

[Question ID = 82][Question Description = 182_94_Bodo_SEPT22_Q82]

1 (A) (B) (D) (C)

[Option ID = 325]

2. (D) (C)(B) (A

[Option ID = 326]

3. (B) (D) (C) (A)

[Option ID = 327]

4 1@ (B) (A) D)

1.

[Option ID = 328]

83) T T RS SETSTET TEATEE I SR W S B A
(A)  @TZAW AETIE R (B) = fwam @ s
€y =R e am oaw's (D) waE-HIE

T Tt wE
[Question ID = 83][Question Description = 183_94_Bodo_SEPT22_Q83]
(A) (C) (D) (B



[Option ID = 329]
2. (B) (&) (D) (C)

[Option ID = 330]
3.(C) (M) A (B)

[Option ID = 331]
4. (B)(C) Dy (A)

[Option ID = 332]

84)  uw' wrErmAE fafatEE TR e e o E FE TEET| TR BEEwET 2 A wi
HEH
(A) Exposition (B} Crisis
(C) Rising action (D) Deénouement and catastrophe

[Question ID = 84][Question Description = 184_94_Bodo_SEPT22_Q84]
T (A (C) (B) (D)

[Option ID = 333]

2. (C) (B) (D) (A)

[Option ID = 334]
3. (D) (B (C)(A)

[Option ID = 335]
4. (A) (B) (D) (C)

[Option ID = 336]

85) smar-mfEst A T A P S S g TR S e A i A

(A)  smfaga (B) whifaerm
(C)  =wil maTE (D) =&
_;I_';—F r e 3 :

[Question ID = 85][Question Description = 185_94_Bodo_SEPT22_Q85]
1 {A) (O) (B) (D)

[Option ID = 337]
2. (B) (D) (C) (4)

[Option ID = 338]
3. (Cy(A) M) (B

[Option ID = 339]
4. (D) (A (B)(©)

[Option ID = 340]
86)  rrerrm oFE gERfa A W wER R EAE T

R A ;A AT e w5
FEAR : HEA W F AT @UEE Sass SirEl SE |

M ieE! T 76 e @




[Question ID = 86][Question Description = 186_94_Bodo_SEPT22_Q86]
1. A (M ROHe1 78 =0 R 31 A 779 Trmmry
[Option ID = 341]
2. A 3 R OmAsl 7 419 R 50 AT T weamata T
[Option ID = 342]
3. A 3 e T R S I
[Option ID = 343]
4. Az TR g R oo e
[Option ID = 344]
87) e T Awta A 9 wEE R EEE 6
SO A - RS IS GiiEEET S SHEEETE | SE YA B SEEAE, Wiy S S
FEE R ¥ Telafwm SEEl TEANE A WEH AT SeEE | A 93 e S et

i e = 11
'Eiﬂu,]HH = HigHHEThR |

TSI GieE] A T ] e

[Question ID = 87][Question Description = 187_94_Bodo_SEPT22_Q87]
1. A s R w71 57 R 5 A 79w

[Option ID = 345]
2. A 1 R oAel s T4 R oo A 7 T wreeta g

[Option ID = 346]
3. A 3 7 A1aE R S Tt

[Option ID = 347]
4. A 33 EfE g R A T

[Option ID = 348]

88)  mremm oEE AERfa A W SR R EEE
wEA R ¢ HHET TSI T Taies e

[Question ID = 88][Question Description = 188_94_Bodo_SEPT22_Q88]
. A 37 R A 9 @ R 9T AT T e

[Option ID = 349]
2. Az R aAel T8 T R o A T e wmmmiy a9

[Option ID = 350]
3. A e 99 R A T

[Option ID = 351]
4. Az mfE T R oA e

[Option ID = 352]



89) MEEE A =549 TEE S

Statement I T FEAFE @ AR TS A6Es @i A weree qraee e
G5 S|
Statement IT : = A T TEE T T sEEeE A=

TSI SienE! A e et e
[Question ID = 89][Question Description = 189_94_Bodo_SEPT22_Q89]
1 L am I e e
[Option ID = 353]
2. 1w 11 gist Tt
[Option ID = 354]

3. 1 am e I0 20 7if

[Option ID = 355]
4 T o it 11w e

[Option ID = 356]

Statement I : AT 9 AT (ambiguity) W FEM TEATE HEE "R
Statement IT : EEAT F4 TR S " B TS @iEe S 2|

ﬂ." .-r 7 a oy 'P'E[ r-. = i 1 .

[Question ID = 90][Question Description = 190_94_Bodo_SEPT22_Q90]
1. I = [ =a o

[Option ID = 357]
2. 1 s A it

[Option ID = 358]
3. T 3w 7 I0 =y Tt

[Option ID = 359]
4 1 = iR 11 =0 T

[Option ID = 360]

Topic:- 094_S1_PART_B

1) wemf wEErg W T wEE el e e

“afrsaTEEe qurrs,j-‘l-srﬂl @:ﬁ% # T AEEE Uﬁ.m-{—ﬁﬂ'fﬂqi—i TH ;A T F.I.I.r“i T ST
g fem o s SR 99 OEEE RE-usEE Te0d HRYEE BErE FedE SEREe
TEEs JF AW FOE OEEErE JEE S R SEE TEE TR GRS S

e S A e T R TR W S g g e st wwme | e
q=THI?



[Question ID = 91][Question Description = 191_94_Bodo_SEPT22_Q91]

1.

2.

3.

4.

2)

Wilham R. Bascom

[Option ID = 361]
R.M. Dorson

[Option ID = 362]
Sumiti Kumar Chatterp

[Option ID = 363]
Major A, Playfair

[Option ID = 364]

TEEE TEErE WA SR 5EE 876l 15 6

afvsARA e e F T SEEE S TS - A T R T wie s
HHTEEHE | HEA QEAE T G U] T ST AR g A SEAdE e
TEeds HF AW U SEEEE A S SR FEE T TR GEmEE | S e
FEEE sEan drFmaT Fivsa A T wEE ferE TR Seaning Bl A@EEE | SEEE
Wmﬁ?ﬁmmmwﬁmm AW T A A R AGEE ARG TR A
Fearat G sTEeAr s

[Question ID = 92][Question Description = 192_94_Bodo_SEPT22_Q92]

1.

2.

3.

4.

3)

Sino-Tibetan
[Option ID = 365]

Semitic-Hemitic
[Option ID = 366]

Indo-European

[Option ID = 367]
Dravidian

[Option ID = 368]

“ufvgaFnis wEde @’W% & T AT f-qTﬂ T~ AT AT (e T wie n"u_m:-ﬂq—rml
HETRERIAR | HA A ‘m—ra{'rmT USRS RIS SR e SEAdr et
T fo 9w = TEMAE| SF OEERl REE-TsEE Ted BRTEH BSrE dedE SeREe
TEsT AT AW S AR @A S B SEE TEE TR GEnmE | SEE weEee
T&?ﬂa A Eﬁ?ﬁmmﬁmﬁmﬁmﬁﬁmﬁmrﬁmﬁ@ww[ EH?H
AT AT -'muﬁl-ﬁ s |

[Question ID = 93][Question Description = 193_94_Bodo_SEPT22_Q93]

1.

2.

FE A A T
[Option ID = 369]
s AW HeEE e

[Option ID = 370]



3.

4.

4)

FITH — TOEEE TAE
[Option ID = 371]

[Option ID = 372]

TEAE TR W SR BEE Al 5 A
“irsaEEe qlfﬂ,ﬁvﬂl TF{%F% H T AEEE Uﬁ.m-{—ﬁﬂ'fﬂm—l TH : fROEE T F.I.I.r“i T ST
T T 9w o TEEE| S OEEA R -sE Te0d WRTEE BSrE #%E SEREe

HTIAAT ST SO HIS EeE AR ¢

[Question ID = 94][Question Description = 194_94_Bodo_SEPT22_Q9%4]

1.

2.

T FHATH
[Option ID = 373]

[Option ID = 374]

- T O

[Option ID = 375]

4. = - .a-.

5)

[Option ID = 376]

BRIRE T a R S i e B i R e B o R 2 e A | O i Bl e S
HETAEEEE | S HEAE T GO OS] Tl e MR Gan i e SEAdE s
TEme JF AW O OEEErE JEE SEE TR S EE TEE TR BRERmE| AR e
SEEE dEen SEmen wea et e sue S e st wen aEEe | S

T G A Slie]  ATaE w9

[Question ID = 95][Question Description = 195_94_Bodo_SEPT22_Q95]

1.

2.

3.

[Option ID = 377]
[Option ID = 378]

[Option ID = 379]

4. TEEM TEH G2 BAE

[Option ID = 380]



Topic:- 094_S1_PART_C

1)

ST HEA 9 T8 A ShgE S8 SEEE! 3097| FEE S S seE A mwms
A MEE SH@TE S EEE g8 O TEE e TEE A S A S| S AR F6
THE 7 AIEIET HG a9 S SETRE 55 54 90aE S O, 2 e g sH | e,
A1 FTeA FEEETE 919 A ® e 26| §EwE T S e |

[Question ID = 96][Question Description = 196_94_Bodo_SEPT22_Q96]

1.

2.

3.

4.

2)

arel

[Option ID = 381]
EIEED

[Option ID = 382]

[Option ID = 383]
et

[Option ID = 384]

T AT WE S A AEE-EEEEA O 9EE WAl S0 B 49 4EEeE g2 man e
| SEEEAT S 9 SRl SEE BEE TEE SEiE 9T 5 AaEEn ST TEEAE 96w
THFM 57E AMETEE His 94 SA SRR 59 F a6, ST e S e | e,
EHA1 FifeaH BEEETE 95 Al #1 JEETE 2641 8w 9 sEEE! e |

ST S T S SEE | S S 9 S S § 5SS 1

[Question ID = 97][Question Description = 197_94_Bodo_SEPT22_Q97]

1.

T

[Option ID = 385]

2. mm - A%

3.

4.

[Option ID = 386]

[Option ID = 387]
E

[Option ID = 388]



3)

[
1.

2.

3.

4.

AT W S A WRE-IEEE 52 9T WA S SRS 9 9EEEAE §e Wan e
| SEEEAT 4 9 SRl SEE BEE TEE SiEE e 5 AaEEn ST TEEAE 96w
THFA 57E AETEE A5 994 S6 STERRAT 519 wF] ATEE oA W, ST i S el | e,

EAET TIieA FFEETE 93 AEEE] 1 JEEE 56| SEEE E aEEE s |

TENT SET] AT SHIEAE TEENE e wEA | st 5 g v
Question ID = 98][Question Description = 198_94_Bodo_SEPT22_Q98]
[Option ID = 389]

[Option ID = 390]

[Option ID = 391]
=

[Option ID = 392]

4) TEEE $OEEETE A 60 JEE ey 19 6

ST SR 9 TS A STgH SAE SEEE! 97| FEE S S s A wwes
SN TeA SHEAE S WA O O U3 SEAAE GTEE AW S e S| g SAEEE 6

SET] FETEAT T A A s TieA B S ] |6 w5 €6 anEE TRl e 5

Bl 7

[Question ID = 99][Question Description = 199_94_Bodo_SEPT22_Q99]

1.

2.

3.

4.

[Option ID = 393]
T—FF A TE-FE =

[Option ID = 394]

[Option ID = 395]
-

[Option ID = 396]



5) wEmE wEEEt W SR qEE e 5 R
AT W S A WRE-IEEE 52 9T WA S SRS 9 9EEEAE §e Wan e
| SEEEAT 4 9 SRl SEE BEE TEE SiEE e 5 AaEEn ST TEEAE 96w
THFA 57E AETEE A5 994 S6 STERRAT 519 wF] ATEE oA W, ST i S el | e,
EAET TIieA FFEETE 93 AEEE] 1 JEEE 56| SEEE E aEEE s |

T WA 5 AEEE o 5 A T T AT A

[Question ID = 100][Question Description = 200_94_Bodo_SEPT22_Q100]

1. 3 gER §HE1 SEEATE 5 GE

[Option ID = 397]
2. HTE FEYEA] SEEEE @R

[Option ID = 398]

[Option ID = 399]

[Option ID = 400]
Topic:- GP_SET1_SHIFT1_A

) The following table shows the percentage (%) distribution of total population (male and
female) of six towns A — F and percent (%) of females among them. Total population of Town
F iz 763000, Based on the data in the table. answer the questions 1-5:

Town-wize Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E T.5% 47.80%
E 21.8% 49.20%

FefefeT e § A - F 98 7/ F F Smaea (79 0 =) #1 aiawm (%) o @5 =8 m==b
T (%) =1 T 21 F o R SEeT 763000 3| AT H SR FOSEE W U 125 F I

AIE LN

TR | T T F Y% T | %
A 21.0% 51.10%
B 10.6% 53.20%
C 73,7% 52.80%
D 15.4% 53.80%
E 7.5% 47.80%
F 21.8% 49, 20%




Number of males in Town A is

T A H T wEE =\ e

[Question ID = 211][Question Description = 101_00_General_17_SEPT22_Q01]
1. 369415

[Option ID = 841]
2. 301270

[Option ID = 842]
3. 364285

[Option ID = 843]
4. 380026

[Option ID = 844]

2)  The following table shows the percentage (%) distribution of total population (male and

female) of s1x towns A — F and percent (%) of females among them. Total population of Town
Fis 763000. Based on the data in the table. answer the questions 1-5:

Town-wize Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E T.5% 47.80%
F 21.8% 49.20%

s A 8 A~ F 97 T F Fo 999 (W 90 =) # 9bed (%) S @90 =96 |
ieeT (%) =9 Ty 2| TR FOF B SEeE 763000 7| AerE H SR E S9N W 9 15 F I

[l

A

T | Tl TAEEAT F Y Ha | G Al
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E 7.5% 47.80%
F 21.8% 49.20%

Difference between the male and female population of Town B is

T B | T W S F SEe F A e w2
[Question ID = 212][Question Description = 102_00_General_17_SEPT22_Q02]
1. 923784

[Option ID = 845]
2. 23474

[Option ID = 846]
3. 23744

[Option ID = 847]
4. 23447



[Option ID = 848]

3 The following table shows the percentage (%) distribution of total population (male and

female) of s1x towns A — F and percent (%) of females among them. Total population of Town
Fis 763000. Based on the data in the table. answer the questions 1-5:

Town-wise Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15:4% 53.80%
E T.8% 47,80%
F 21.8% 49 20%

el A 8 A - F 92 T F1 o 9990 (9 370 =) #1069 (%) S 60 = m=_ 6
iAo (%) =OE AT £ W FOF e A 763000 7| AleH ° S F WHE W W 15 6 I

[ ¥

A

T AW TS 1

TR | F wHE Y fawm | %
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E 7.5% 47.80%
F 21.8% 49.20%

The male population of Town F as a percentage of the male population of Town E is
approximately
F1 F 1 v 79aen a1 E $1 T FAEE F5 a9 R a2 7

[Question ID = 213][Question Description = 103_00_General_17_SEPT22_Q03]
1. 206%
[Option ID = 849]

2. 295%

[Option ID = 850]
3. 258%

[Option ID = 851]
4. =2g30;

[Option ID = 852]



4 The following table shows the percentage (%) distribution of total population (male and
female) of six towns A — F and percent (%) of femalez among them. Total population of Town

Fis 763000. Based on the data in the table. answer the questions 1-5:

Town-wize Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15:4% 53.80%
E T.8% 47,80%
F 21.8% 49 20%

TeTeEe A 3 A — F @E T Fe SEea (T S0 =6 w6 o (%) e S5 5 e w
TAeT (%) ZOE TET £ AW FOF e e 763000 71 Aled S E SHE W W 15 6 I

[ ¥

£ [ 1L

T AW FAEEE 1

T | FE T % = | %
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.50%
E 7.5% 47.80%
¥ 21.8% 49.20%

Number of females In all the six towns together is

ufi w2 W 5 T i T d@en = A e
[Question ID = 214][Question Description = 104_00_General_17_SEPT22_Q04]
1. 1773240

[Option ID = 853]
2. 1801786

[Option ID = 854]
3. 1940982

[Option ID = 855]
4. 1821744

[Option ID = 856]
5 The following table shows the percentage (%) distribution of total population (male and

female) of six towns A — F and percent (%) of females among them. Total population of Town
F iz 763000, Based on the data in the table. answer the questions 1-5:

Town-wize Distribution of Population

Town | % Distribution of | % Female
Total Population
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.80%
E T.5% 47.80%
E 21.8% 49.20%




s A 8 A~ F 97 T F Fo 999 (W 90 =) # 9bed (%) S @90 =96 |
ieeT (%) =9 Ty 2| TR FOF B SEeE 763000 7| AerE H SR E S9N W 9 15 F I

[l

AR
T | Tl TAEEAT F Y Ha | G Al
A 21.0% 51.10%
B 10.6% 53.20%
C 23.7% 52.80%
D 15.4% 53.50%
E 7.5% 47.80%
F 21.8% 49.20%

Number of males in Towns A-F as a percentage of the population of Towns A-F 1s
approximately
AF 77l i S5 & Tiavm & =9 5 AF T § W 1 e @ e 27
[Question ID = 215][Question Description = 105_00_General_17_SEPT22_Q05]
1. 43%
[Option ID = 857]
2. 45%

[Option ID = 858]
3. 49%

[Option ID = 859]
4 51%

[Option ID = 860]
Topic:- GP_SET1_SHIFT1_B

1) T never teach mv pupils: T only attempt to provide the conditions in which they can learn™ —
Albert Einstein. The above guote can be best fitted for which of the following models of
teaching-learning?

“H e T 1 F i T 96 7 A A S A RAieal T9E F W TEE Al A e F ' aE -
e AT T AtaTE % eteaiEs el 8 8 FiA A A9i5e S99 3500 % 160 FAiaE 9 27

[Question ID = 216][Question Description = 106_00_General_17_SEPT22_Q06]
1. Learner Centered

fere e

[Option ID = 861]

2. Teacher Centered

Torer i

[Option ID = 862]
3. Parentsz Centered

AT Fisa

[Option ID = 863]
4. Placement Centered

T i



[Option ID = 864]

2)  Which of the following is used in offline mode of teaching?
TFeTahEs | O o e 1 siRarsd Tonel § uEe S A 27

[Question ID = 217][Question Description = 107_00_General_17_SEPT22_Q07]

1. Chalk and board

[Option ID = 865]
2. Videsa conferencing tools

[Option ID = 866]
3 LMS

T T TH

[Option ID = 867]
4. Digital rezources

o

o}

At AT

[Option ID = 868]
3)  Which of the following type of courses have been emphasized to he introduced as per NEP-

20207

W E i~ 2020 % AR FEEiEs 5 ° A 3 TR % ighE TR W A 9 w7
[Question ID = 218][Question Description = 108_00_General_17_SEPT22_Q08]
1. MOOCs

s 1 = H e (MOOCs)

[Option ID = 869]
2. Value-based courses

i' 1 -‘ﬂ :.Hr i I qi'):!a*i

[Option ID = 870]
3. Current-affairs courses

wEETE Tawg g e

[Option ID = 871]
4. Alility enhancement courses

AT Afg A
[Option ID = 872]
4)  Dyslexia is associated with
TeaeiTeam W= 8 A oo getag 27

[Question ID = 219][Question Description = 109_00_General_17_SEPT22_Q09]

. Writing disorder



[Option ID = 873]
2. Reading text disorder
[Option ID = 874]
3. Interpreting graphics disorder

[Option ID = 875]
4. MNlental disorder

AT e

[Option ID = 876]

5)  Which of the following are online methods of teachj_ng_?

(A) Using LMS

{B) Using video conferencing tools
(C) Chalk and Talk

(D) SWAYAM & Swavam Prabha
(E) Field based activity

Choose the correet answer from the options given below :
Tot=tgs § 0 =5 o fafa i e 1 9t 27
(A) TS TH UH F TEE A
(B)  =i=A1 T SN B AT H
(C) =% HF =T
(D) = SN EEAT (TH 55 U 9TE UUY AR UH T5g U T U 0 HE U A v= )
(E) & AT AR

fon e e # B T = W =9 R

[Question ID = 220][Question Description = 110_00_General_17_SEPT22_Q10]
1. A Band C Only

#aa A B 3w C

[Option ID = 877]
2. A BandD Only

FaA A B3w D
[Option ID = 878]
3. BandD Only
Fa9 B w7 D
[Option ID = 879]
4 B,DandE Only

Faa B. D 3 E

[Option ID = 880]



6 ; : i
) When we separate social phenomena from social actors. it 1z known as

A EH HIHTAF GHZAT ST Fla T 9U% Fd £ A1 ST e B S A 2 7
[Question ID = 221][Question Description = 111_00_General_17_SEPT22_Q11]
1. Positivism
ToHEds
[Option ID = 881]
2. Relativism

[Option ID = 882]
3. Subjectivism

I =
4

[Option ID = 883]
4. Ohjectivism

-

g iEd FJ.

=

[Option ID = 884]

7) A trend study 1s usually

S-S A = 2 -
[Question ID = 222][Question Description = 112_00_General_17_SEPT22_Q12]
1. Action - oriented

FETE

[Option ID = 885]

2. Impression - oriented

5 .Jaﬁ

[Option ID = 886]
3. Description - oriented

[Option ID = 887]
4. Experiment - oriented

”

'=)ill_r: ];zfi

u

[Option ID = 888]



8)  Which of the following are the criteria to assess the quality of qualitative research?

(A Context sensitivity

(B Rigour of analysis

(C) Transparency and coherence
(D) Lengthy description

(E) Liberal use of hypothezes,

Choose the correct answer from the options given helow :
OIS 1 AT & G F A0 HeetE § 8 i H §hES B
(A)  TEd-TETEiEE
(B)  faveram f1 wREga
(C)  AWEfTET S FETEa
- . {™
(I EEINEEIR

(E)  WERsIET T SERATYO S0

AU e e e o e e D o e 0 8

[Question ID = 223][Question Description = 113_00_General_17_SEPT22_Q13]
1. A B.C Only

Faa A, B. C

[Option ID = 889]
2. B.C.DOnly

a9 B, C. D

[Option ID = 890]
3. €.D.EOnly

FEC.D.E

[Option ID = 891]
4 A D.E Only

Fa A D E

[Option ID = 892]
9)  Given below are two statements :

Statement I :  In historical research. external eriticism is necessary to establish the

authenticity of data.

Statement 11 :  Various tests of authenticity are there i historical research but there is

no need to use them.

In the light of the above statements. choose the correct answer from the options given below :



4= = w9 g F
Ty 12 UIHETHE 9 § 221 ] TR FE T Sl S S A

e S e et e e o s e O 1 e PR A e e M o e e e o e e e PR BT i

B e 2 e e ot o 0 B 1 B G o | B e = o e A -2 o L

[Question ID = 224][Question Description = 114_00_General_17_SEPT22_Q14]
1. Both Statemnent I and Statement IT are true

#ua 1 3 [ 5H a2
[Option ID = 893]
2. Poth Statement I and Statement II are false
Fo [ ¥ Mo 987 &

[Option ID = 894]
3. Btatement I 1s true but Statement II 1= false

o 1979 2, =i %94 I 50 2

[Option ID = 895]

4. Statement I is falze but Statement IT i= true

o [ 3 2 AT sua [ o 2

[Option ID = 896]

10)  MNateh List Twith List 1T :

LastI TistIT
Research concept Discription

(A) Hybrdisation (I) Shifting from text to Images as
empirical material

(B) Epistemology (Ily TUsed in Chi-Square test

(C) TIeonic turn (I} Meaving away from a specific
methodological affiliation.

(D) Yate's correction (IV) Theory of knowledge

Choose the corrvect answer from the options given below ;



TEA-1F 779 = g1-11 e

(C) ==l o (AEFF =)

(D) = 1 FIR

il T
(=it srremom) (o)
(A)  FF (@ FAETaE GrEl F =9 8 98 ® S H
(B) 3 Himm (I) -T2 THEm | W3 T = 2

= Al TN T o
(III) T =Ee =Ea—ad aegd & 72

(IV) FH-Tagm

9 o o Tt & 9 o =9 # 99A Firee

[Question ID = 225][Question Description = 115_00_General_17_SEPT22_Q15]

1.

2.

3.

4.

11)  Agenda-setting is a function of

(A)-(Dh. (B)-(11), (C)-(II1), (D)-(ITV)

[Option ID = 897]

(A)ATIT). (B)-(IV). (C)=(Th, (D-(IT)

[Option ID = 898]

(A(ITh, (By-(IIL. (C)-(D), (D)-(IV)

[Option ID = 899]

(A)AIV), (B)-(I). (C)-(III). (D)-IL)

[Option ID = 900]

7

A P F = N o -3
FEEA - A (TAS J2) WeeArEd o OEE w

[Question ID = 226][Question Description = 116_00_General_17_SEPT22_Q16]

1.

2.

3.

4.

1.

Legal communication

[Option ID = 901]
Corporate communication

va u-l 1 a_ ;. i -‘I‘ I

[Option ID = 902]
Political communication

EXa . .-'L

[Option ID = 903]
Grapevine cominunication

AT JE

[Option ID = 904]

12)

A teacher. after communicating with students, should always check for

T TeTE T FEEE WY HaE F 99 0e AoSEnEa A e S

[Question ID = 227][Question Description = 117_00_General_17_SEPT22_Q17]

- T Teend 1 =EE

Non-reflective student behaviour




[Option ID = 905]
2. Fractured feedback

[Option ID = 906]
3. Aecculturation

TR A

[Option ID = 907]

4. Graszp of communicated contents

[Option ID = 908]

13)  Which of the following are parts of body language for effective communication in the

claszroom?

(A) Eve contact with students

(B) Reduced spatial distance

(C) Reduection in personal space of students
(D)  Keeping the arms folded

{E) Non-confrontational gestures

Choose the correct answer from the options ziven below :
T T AT T o T A 9 A g 0 W w A " 7
(Ay  TenieEl % g = 39
(B)  =F =
(D)  g=W H51 55

(E) -l gE-vimee

Teu 70 faedl § & 991 397 1 994 i

[Question ID = 228][Question Description = 118_00_General_17_SEPT22_Q18]
. A B COnly

Fa A B. C

[Option ID = 909]
2. A B.E Only

Fa9 A B E

[Option ID = 910]
3. A B.DOnly

Fa9 A B.D

[Option ID = 911]
4 B.C,DOnly

Fa9B.C, D

[Option ID = 912]



14)  Given below are two statements :

Statement 1 : In terms of communication. the mass media are the most powerful
influencers in any developing country,

Statement I :  Inter-personal communication i more powerful than mass media in anyv
developing society,

In the light of the ahove statements. chooze the correct answer from the options given below :

.

eI o e o B o

F2E 1: HUEM H U5 §, 59 H=F OIS ] SEEiE 29 5 "@aias aeeE] Y96 S 919 56

Fua [ Toel o1 EeEelier 5O7A § 30 SA0E ST A9 990 OISEE S S0E J19s TaEee 2

zl

I HUH B AT §, A4 6 T Sl 3 H HE 3 6 =99 iAo

[Question ID = 229][Question Description = 119_00_General_17_SEPT22_Q19]
1. Both Statement I and Statement II are true

#oA 1 3w [ oFi 9 2
[Option ID = 913]
2. Both 8tatement [ and Statement II are false
= 1 3 Il o 380 =
[Option ID = 914]
3. Statement I is true but Statement IT is false
[Option ID = 915]
4. Statement I1s false but Statement II 1= true
F9H 1 307 7, =it Faa e 2

[Option ID = 916]

15) Identify the chronological order of effects of newspaper reading on different groups of people.

{A) The instrumental effect
(B) The reinforcement effect
(C) The presiige effect

(D)  The respite effect

(E) The aesthetic effect

Choose the correct answer from the options given helow :



(A) HAfoE TaE
(B) #e=H 99E
(Qy  wigE w9=

D) e T
(B)  =imgemsEmE waE

AU LS e e e e e T R e

[Question ID = 230][Question Description = 120_00_General_17_SEPT22_Q20]

1.

2.

3.

4.

1

[

1.

2.

3.

4.

AGEED

[Option ID = 917]
B.C.D,E. A

[Option ID = 918]
C.E.ADE

[Option ID = 919]
EACBD

[Option ID = 920]

6) Find the missing number in the series given as; 4, 7. 11, 19, 32. 54. 7, 149, 245

frefefeEn e § o9 S g =l 4, 7, 11, 16, 32, 54, 7. 149, 245

Question ID = 231][Question Description = 121_00_General_17_SEPT22_Q21]
86
[Option ID = 921]
90
[Option ID = 922]
105

[Option ID = 923]
88

[Option ID = 924]

17) A sum of Rs.1550 is lent out into two parts. one at 8% and the other at 6%. If the total annual

income is R, 106, then find the money lent out at each rate 1.e.. 8% and 6%, respectively.

. 1550 &t 7if%r =1 5PN 9 W WL A 2, TF 9 8% F F W S T 6% T I e TiGF A9 5

106 2 1 TEF 77, WU FHE: 8% I 6% T 70 W A 7S T O =6

[Question ID = 232][Question Description = 122_00_General_17_SEPT22_Q22]

1.

2.

3.

Rs. 650, Rs. 900

=, 650, %5 900
[Option ID = 925]

Rs. 700, Bs. 830
. 700, %.850

[Option ID = 926]
Rs, 900, Rs, 650



=, 900, %, 650
[Option ID = 927]
4. TRs. 800. Rs. 750
%. 800, %.760

[Option ID = 928]
18)  Find a single discount equivalent to a series of discounts 10%, 20% and 30%

#mfiEs H 10%, 20% 317 30% =51 & GHaed ThA 951 7 Fi|

[Question ID = 233][Question Description = 123_00_General_17_SEPT22_Q23]
1. EBpae
all,2%

[Option ID = 929]
2. 50.4%

[Option ID = 930]
3. 40.6%

[Option ID = 931]
4. 51.0%

[Option ID = 932]

19)  The ratio of the present ages of two persons A and B iz 4:3. If 4 years ago. the ratio of their
ages was 2:1, what 1= the present age of A and B (in vears) respectively?

T =T A 3 B i 900H o 5T 443 71 A 4 99 04, S S W SETE 261 o, 71 A s B
+1 A9 =g (791 5) 7= 2 Y
[Question ID = 234][Question Description = 124_00_General_17_SEPT22_Q24]

. 8.6

[Option ID = 933]
2. O.F

[Option ID = 934]
312, 9

[Option ID = 935]
44,12

[Option ID = 936]
20)  Find the average of squares of consecutive even numbers from 1 to 207
L & 20 o F FATE A9 BEAIAT = 0 B A gaT wEd
[Question ID = 235][Question Description = 125_00_General_17_SEPT22_Q25]
1. 154

[Option ID = 937]
2. 151

[Option ID = 938]
3. 155

[Option ID = 939]



4. 153

[Option ID = 940]

21)  Which of the following propositions iz obverse and lozically equivalent to the proposition
‘No umpires are partisans’?

TefeEn # @ FidE wiann autenan TanE 1 Aiead 2 3R Aaiee w9 3 356 #@eaed 2- #E 6
T 9aTE T 2 2
[Question ID = 236][Question Description = 126_00_General_17_SEPT22_Q26]
1. Nonon-umpires are non-partisans,
w57k o et e 7 F 2

[Option ID = 941]
2. Al non-partisans are umpires,

Tt Tr—gETr] Hom 3

[Option ID = 942]
3. Somie umplres are non-partisans.

T U F-uEmT 7

[Option ID = 943]
4. All umpires ave non-partisans.

Tt fAvn i T A
[Option ID = 944]
22)  @Given below are two statements :

Statement [ :  Conversion 1s an inference that proceeds by interchanging the subject
and predicate terms of the proposition.

Statement IT : A7l conversions are valid inferences

In the light of the above statements. choose the correct answer from the options given below :

4 =7 S 5

Fo 1 A=A TF WAEE 7, A A F e W 59T F 96 6 siesee F0d 5 SEE 26 2

#od I : ey Aqitaas 39 w99 76 21

s e e o e = ot = P 1 B L = e == 7 1 e e 2 e o e 1

[Question ID = 237][Question Description = 127_00_General_17_SEPT22_Q27]
1. Both Statement I and Statement IT are true

[Option ID = 945]
2.  PBoth Statement T and Statement IT are false

[Option ID = 946]



3. Btatement I is true but Statement II is false
#0150 7, At #9911 55 7
[Option ID = 947]
4. Statement Iis falee but Statement IT 1= true
F93 1 Aaea 2, 0 F94 15 =
[Option ID = 948]

23)  \Which logical informal fallaey 1s commitied in the following statement- “The Beatles were the
best rock group of the 1960s since they =old more vecords than any other rock band™.

TeferEa w9 FAE SEAETE GE-Tm T 2 - Udieen 1960 F T B WEihE O 49 41
w1 3 freres e i a5 17 as f e | st o)

[Question ID = 238][Question Description = 128_00_General_17_SEPT22_Q28]
1. Appeal to Majority

A F AR

[Option ID = 949]
2. Thversion
SFE
[Option ID = 950]
3. Begeing the Question
HAeRIEA
[Option ID = 951]
4. Egquivocation
_qqm' '_‘_

[Option ID = 952]

24)  TWhich of the following statements are true regarding logie?

(A) Avistotelian svllogism 1= deductive,
{B)y  Nyava syvllogizm 1s deductive.

(C) Anstotelian syllogizm is formal.
(D) Nyaya svllogizm 1is formal.

(E) Nyaya syllogism 1s inductive.

Choose the correct answer fiom the options given below :



TA=iteiEn 9 4 1 4 U e E 4T H TR R Y
(&) 3 F AT WA A

(B) ATl = A AT 2

(C) R F1 =9 A9 AT 2

(D) AR S -AE AR 7

(E) =11 #1 -7 ATHATTE B

fou v faFeat © 9 T = e e

[Question ID = 239][Question Description = 129_00_General_17_SEPT22_Q29]
. A B C.DOnly

w9 A, B. C.D

[Option ID = 953]
2. ABCDE

ABCDE

[Option ID = 954]
3. A CandE Only

FaTA. O 3R E
[Option ID = 955]
4 A B. CandE Only
Fa9A.B. C. 3 E
[Option ID = 956]
25)  Which of the following 1s true regarding Upamana as a means of knowledge according to
Nyaya school?

(A) It 1= knowledge derived from comparison.,
(B) It roughly corresponds to analogy.
{C) It 1= defined as knowledge of the relation hetween a word and its denetation.

(D) It 1= & kand of anumana (inference),
Choose the correct answer from the options given below :
B IR IR B 2 (o o e e 1 = e B B e e e e = B e e A e ot

(A)  TE T H T I A
(B) T® U AR W ATEEAW T 5 AT 2
(C)  z8 7/ 37 3 atagd (f592em) & o= 999 & 74 % =9 8 grais e o A

(D) 7% UF TEA I FEE 2

feu 7 faed] § & 981 39 5 994 Fiau

[Question ID = 240][Question Description = 130_00_General_17_SEPT22_Q30]
. A B CandD

ABC#HID

[Option ID = 957]



2. A andB Only

Fa9 A 57 B
[Option ID = 958]
3. A Band C Only

FAAA BHR C

[Option ID = 959]
4 A BandD Only

FaAA BT D

[Option ID = 960]

26) \What is e-Taal?
ST T BT

[Question ID = 241][Question Description = 131_00_General_17_SEPT22_Q31]

1. A Web portal for dissemination of bank transaction statizstics of Panchavat level e-
Governance projects.

THTE T ] -0 GRATAAIS W A GoEEEn Sedl A TEE B 46 1

[Option ID = 961]
A mobile app for dissemination of information on fund allocation for National and
state level e-Governance projects.

YT T TS T 3-9ET TATSE] = G e gedl geE F TET 7y q1ese oy

[Option ID = 962]
3. A Web portal for dissemination of e-Transaction statisticz of National and State level
e-Governance Projects.

T W T TE 3-IE IR Fi 5 -HeIEEn Fier % TAT 5 79 e

[Option ID = 963]

4. A web-based Software for composing a music.

[Option ID = 964]

27) Which of the following statements are correct regarding Centre for Development of Advanced

Computing (C-DAC) of India?
{A) The setting up of C-DAC was to build Supercomputers in context of denial of import of
Supercomputers by USA,

(B) C-DAC started building Indian Language Computing Solutions with setting up of
GIST group (Graphics and Intelligence based Script Technology)

(C)  This Centre was started in the vear 1995

Choose the correct answer from the options given below ;



WA F I FA T Fe (H1-5%) % A9y 9 FeleiEd @ | A 9 w59 56 e

(&) F-=F i T T T A G T FEE F A ¥ 30 FH F A J R
THI = R T T A

(B) Hi-=F A S @ vy A (arEm 9w g9t snaiE S oEneR) @9 W e O OSEAE A4
e A ST AT T

(C) =8 %= F 99 1005 § 304 =1 7= =1

20 70 Ta=edl B O 98 39 5 99 e

[Question ID = 242][Question Description = 132_00_General_17_SEPT22_Q32]
1. Aand B Only

FaE A B
[Option ID = 965]

2. Band C Only
Fa= B & C

[Option ID = 966]
3. Aand C Only

FaFAHNC

[Option ID = 967]
4 A BandC

AB#HTC

[Option ID = 968]

28) Which of the following iz a way to quickly mccess a favourite website by =aving it in your
browser?

wA T | 9E FE A G 7, T A0 W ¥ G0 S AT T JaEEE o e O 9hd

£ oy
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[Question ID = 243][Question Description = 133_00_General_17_SEPT22_Q33]

1. Cookie
[Option ID = 969]
2. Bookmark

T o (9 O

[Option ID = 970]
3. Blog

AT

[Option ID = 971]
4. Wik

EET]

[Option ID = 972]



29)  Which of the following can be considered as illegal or unethical in the context of information

technology?

{A) A hospital reveals chinical historv of a patient without the consent of a patient.

(B) A student using proprietary software without having license.
(C) A person stealing another person’s credit card number.
(D) A college using Linux operating system (being an open-source software) on all its 200

computers on the campus,
Choose the correct answer from the options given helow :

AT WP F AR T AT 8 ° e S 997 4T T 9w 2

(A) I A T mEAl F E Ia e e T A A

(B) =15 Tamnedf fam =eam om w=nfue whewn 9 Aiveas = T = E|

(C) =t =k Tl 37 =3hF =+ wiez WS W A 7 A

(D) T TEEETEE T § = 200 FE W Al T Tl (T 5 =W a5

3
=l = |

oo 7 e § | TR 39 W = i

[Question ID = 244][Question Description = 134_00_General_17_SEPT22_Q34]
1. Aand B Only

FTAAFTE

[Option ID = 973]
2. Band C Only

Faa B AT C
[Option ID = 974]
3. A Band C Only

FaFA B3 C

[Option ID = 975]
4. CandD Only

Fa= C a7 D

[Option ID = 976]

30) Given below are two statements :

Statement I : A bloek-chain 1= a growing list of records, called blocks. which are Iinked
using Cryptography.

Statement 1T :  Block—chains which ave readable by the public ave widely used by ervpto
curriencies.

In the light of the above statenients. choose the correct ansiwer from the options given helow :



=t =1 Fo o A
B i)

Fod Il HEARE =9 3 T3AE 00 241 0 BT g1l 56 9% 94 TP A A

BT Tl T e 2 = | o] LA 2 e M = i e L T D e 11 = L

[Question ID = 245][Question Description = 135_00_General_17_SEPT22_Q35]
1. Both Statement I and Statement I are true
o I Hn o 54 7

[Option ID = 977]
2. Both Statement I and Statement IT ave false

e T on IL 5T w80 =
[Option ID = 978]
3. Btatement Iis true but Statement IT 1= false
o LA 7, =0 527 I 58
[Option ID = 979]
4. SBtatement I1s false but Statement IT i= true
9 | 500 2, S F94 Taea
[Option ID = 980]
31)  Which one of the following isotopes of Uranium is used as fissile material in nuclear thermal
power plants?
o & Fm sty (smenter) 1 it 5 4 = e v fah w6 5
E ik
[Question ID = 246][Question Description = 136_00_General_17_SEPT22_Q36]
T Tlaas

[Option ID = 981]
2. e
[Option ID = 982]
3. Uoss

[Option ID = 983]
4. Tasg

[Option ID = 984]

32) Which one among the following rotors iz mostly used in wind turbines for electricity
generation?

TaA FeheA F 10 99 e § (Heteigy § 3 50 T2t #1 AP F9E0T e A w7
[Question ID = 247][Question Description = 137_00_General_17_SEPT22_Q37]
- AMultiblade rotor

[Option ID = 985]
2. Propeller rotor



[Option ID = 986]
3. S&TDDJ..OU.S Totor
S T

[Option ID = 987]
4. Darrieus rotor

[Option ID = 988]

33)  What is the correct chronological order of the following from older to newer?

(A) Paris agreement

(B) Convention on biodiversity
(C) Kyoto Protocol

(D) Montreal Protocol

(E) Stockholm Conferenice

Choose the correct answer from the options ziven helow :

Frefelas =1 o @ 90 5% %1 A7 Fews = 27
(&)  diE T

(B) Fa-ffEws o satEea
(Q) T W

(D) wifZam TR

(E)  *=Em aeer

PR e e e o B i D P 11

[Question ID = 248][Question Description = 138_00_General_17_SEPT22_Q38]
. B, DCEA

[Option ID = 989]
2. B.C.D.EA

[Option ID = 990]
3. E.D,.C.B.A

[Option ID = 991]
4 E.D.B.C. A

[Option ID = 992]

34)  Given below are two statements :

Statement I : Total absence of fluoride in dr]'_nking water causes dental caries.
Statement IT :  With presence of fluoride in drinking water, all the dental problems can
he avoided.

In the hght of the ahove statements. choose the most appropriate answer from the options
given helow :



=1 e fem o E

FoH L:  UASE  FEATES F O AT & e Sa -, we A
we I1: 9= § ToWTes 1 9oty = gt sq-auenet o a6 7 T A
ST T F OAEE A, 99 50 T @ § 6 T S I 99 A

[Question ID = 249][Question Description = 139_00_General_17_SEPT22_Q39]
1. Both Statement [ and Statement IT are correct

A I o I =F1 971 2

[Option ID = 993]
2. Both Statement I and Statement II ave incorrect

w13 1L aF 7794 =

[Option ID = 994]
3. Statement I1is correct but Statement IT is incorreet

FoT IH5 2, ol Fa 7o 7

[Option ID = 995]

4. Statement I is incorrect but Statement II is correct
o 1 e 7, Wi e 08 2

[Option ID = 996]

35) According to Indian National Ambient Al Quality standards an Aw Quality Index (AQI)
value of 200 indicates the quality of air as

W g 99l 9T TS B OSTEE U 90 e g (LA, ) 200 F 0 T w5
T Fr i O S S 2

[Question ID = 250][Question Description = 140_00_General_17_SEPT22_Q40]

1. Very poor

[Option ID = 997]
2. Moderate

e (AEE)

[Option ID = 998]
3. Paor

TG

[Option ID = 999]
4. 8atisfactory

[Option ID = 1000]
36) Delhi University. Delhi was established in the vear:

[Question ID = 251][Question Description = 141_00_General_17_SEPT22_Q41]



1. 1914

[Option ID = 1001]

2. 1922
[Option ID = 1002]
3. 1947

[Option ID = 1003]
4. 1054

[Option ID = 1004]
37) Who was the ¢hairperson of the committee appointed in 1963 by the National Council for

women education to look into the causes for the lack of public support for givl's education and
to enlist public support?

Trfelas 9 | Mg Al e 9ims geT 1963 H g Rl TS 3W AW w1 9sAd wiA ad, T
F T F= T @t

[Question ID = 252][Question Description = 142_00_General_17_SEPT22_Q42]
1. Hansa Mehta

[Option ID = 1005]
2. Durgabal Deshmulkh

[Option ID = 1006]
3. Margaret cousins

[Option ID = 1007]
4. Bhaktavatsalam

FhaTHTH

[Option ID = 1008]

38) Given below are two statements :

Statement I : As a result of the recommendation of the Woods despatch’ modern
University education in India began in 1857. When the universities of
Calcutta. Bombay and Madras were founded by the British.

Statement IT ¢ The Banaras Hindua University. Varanasi was established in the vear
1927,

In the light of the above statements. choose the mest appropriate answer from the options

given below :

-

B e B o T e g

w 1. ‘g feeda’ F seemne F oty wEY 1857 § 96 B agiEE HrataeeE me e

FoIl: A Trs g F T 9T 1927 7 55

SUTE HUT o AR H, A9 50 0 el § 8 He U 39 S I



[Question ID = 253][Question Description = 143_00_General_17_SEPT22_Q43]

1.

Both Statement [ and Statement IT are correct

w1 # = 94 2

[Option ID = 1009]

Both Statement I and Statement 1T are incorrect

e I o7 I =F1 =4 2

[Option ID = 1010]

Statement I 1s correct but Statement I is Incorrect

Fue LH71 2, =i F9a e

[Option ID = 1011]

Statement I is incorrect but Statement 1T i1s correct

F97 [ 97 7, =0T FoT 1577 7

[Option ID = 1012]

39)

Match Tast T wath List IT:

List I List II
(Commissions) (Chairperson)
(A) University Education Commision 1948 | (I) Dz Sam Pitroda
(B} Secondary Education commission 1952 | (II) D, Sarvepalli Radhakrishnan
(C) Education Commission 1964 (IIT) Dwr. D.S. Kothari
(D) National Enowledge Cominussion 2005 | (IV) Dr. Lakshmanaswanu Mudahar

Choose the correct answer fronl the options given below :

-1 = = g1-11 e i

-1 =111
(A) favat=amem G s, 1948 | (D 31 @9 e
(B) HIEER e i, 1952 D =1. T T
(C) foren s, 1964 (1) =1. S0\, F=r
(D) TEE TH AE, 2005 V) =1, FEEvEEE gaeE

= Tou T el 8 H HE IR = FIA0

[Question ID = 254][Question Description = 144_00_General_17_SEPT22_Q44]

1.

2.

3.

4.

{(A)-(D. (By-{ID), (C) IV, (D)«(IID

[Option ID = 1013]

(A)-(IT), (B)-(IV), (C)-(III}, (IN-(I)

[Option ID = 1014]

(A)-(IV). (B)-(III). (C)-(Ty. (DH-(ID)

[Option ID = 1015]

(A)-(IIT). (B)-(T). (C)-(IT). (D)-(IV)

[Option ID = 1016]




40) (iaven below are two statements :
Btatement I : ‘Pandit Madan Alohan Malaviva National Alssion of Teachers and
Teaching’ aims at promoting 2ocially relevant research in Science.

Statement IT 1 'Scheme for Promotion of Academic and Research Collaboration’ aims at
teacher training and faculty development.

In the light of the above statements. chooze the correct answer from the options given below :

fag s e mE;
wA 1:  “Torerwl 3 e % Tew ut=g 9ed 9T g T8E e # Serd EeE B @9 H OmEieE
=T { TIIF FEEAIE O A 2

FoA I1: SRS 0 S9-aH HeA0 UG B9 ] A ThE BE UHEA AT AESEE U e

FEENTA | W T - TE 36 A= 2

THEIF FEE F AT H, 49 120 70 {9Fe 7 | 09 39 9 999 i

[Question ID = 255][Question Description = 145_00_General_17_SEPT22_Q45]
1. Both Statement I and Statement II are true
Foe [ o7 I =1 549 7

[Option ID = 1017]
2. Both Statement I and Statement IT are false

o I an [ g w90 7

[Option ID = 1018]
3. Statement Iis true but Statement IT is false

o 1o 2, 9fa 99 I s/aea 2

[Option ID = 1019]
4. Statement I is false but Statement II is true

w1 50 2, S HYE Lo 2

[Option ID = 1020]

Topic:- GP_SET1_SHIFT1_C



1.

1)

Read the passage and answer guestions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political interests. It too made the
case for umniversal suffrage. The Sapru committee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes In such matters could occcur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if reiterated the idea that the very exercise
of franchise would provide the education necessary to enable a responsible politics. The
support for universal franchize could also be seen In proclamations by major political actors.
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwrned from South Africa in 1915 and swiftly became
the face of India’'s entire effort at emancipation. beldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulteirated franchise for both men
and women. The contitbution of B.R. Ambedkar, who took up the cause of lower sections of
the =zociety during the anti-colomial struggle was signmificant in this regard. His focus on the
1ssue of social divisions made him sensitive to restrictions on the right to vate. Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower

sections of the society,

e TN Fi UiET 4R WU TEn 46-50 F I Ana-

7 At F1 foe 1945 7 wRE = A TR A& W TeEien B 6 wEEre F 6 0w St
e A R 9REA 90 STeE! TR 9 AR 2 7 B 2| T S8 qRgR 9 97 9 e
VIR U1 o e i e B IR e o B B2 o1 e 0 2 1 e e v Bt | 7| R 122 i s o =
HANEERT T Oiasal W wgd HEA W FEI0 Sk AHEAETE TEE 6 =9 9 96 SEEE Td) 1915 |
Sl SRR | FI2 9 S TniEE A0 CAEA o A90 TAW R AWl 8 =e0 54 T 4] 3we 1939 1
AR Z H =G i F A e F e aiod T4 2 3EE FE T 9E T s e ae o+ fe
Sl HETERT R HEIE =4 H GrEl FA0| 56 a0 § SUHGREE -l 5ud 6 SnE 5eE B e a3 w
96 AEER W NEEG] F WA A9eEie 84| ANEEEe e SR 98 AR SR W AT
SEATHT FT HU TS F S @ ) AEAEE "Ee A

The Sapru Committee favoured nniversal suffraze to accommodate

(i

7] A FEE AAEAT #  60 SEEEE SATaER w5 SO e 17

[Question ID = 256][Question Description = 146_00_General_17_SEPT22_Q46]
Educated elass

[Option ID = 1021]

2. Prapertied class

[Option ID = 1022]

3. Evolution of political parties

[Option ID = 1023]

4. Various political interests

[Option ID = 1024]



2)

Read the passage and answer questions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political interests. It too made the
case for universal suffrage. The Sapru committee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes In such matters could occur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if veiterated the idea that the verv exercise
of franchise would provide the education necessary to enable a responsible politics, The
support for universal franchize could alse be seen In proclamations by major political actors,
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwined from Scouth Africa in 1915 and swiftly became
the face of India's entire effort at emancipation. boldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulterated franchise for both men
and women. The contribution of B.R. Ambedkar, who took up the cause of lower sections of
the =ociety during the anti-colonial struggle was signifieant in this regard. His focus on the
1ssue of social divisions made him sensitive to restrictions on the right to vate., Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower
sections of the society.

et wreror =1 afen 31 W= TN 46-50 I Ata-

=] AiEW F T2 1945 9 wEEE 5 4| 3R S0 W TR 6 SEEE ® e o S
AT F TG FA H A TEE A1 S gEEiaE Baiasn & aEe w5 4 @md o Oy
Tl A 9ET 9RE g0 STReE TR S AR 2 7 B 2| 5 36 qRgR 9 97 9 el
T TSI AT 1 areE § O SEiteE waewn o T S50 Tl 5 S 9 T S A
HAMEERT T UiASal W wgd WEAT W FEI0 h ANEAETE SEE 6 =9 § 961 SEEE T 1915 |
Sl S | w2 9 S SrdEEr  AE H CAEd = A90 JAW a8 w0 w4 T ) e 1939 1
AR F H =G i A e F e iod T8 2| 3EE FE T IR I S e ae o+ i
Sl HETEERT. R HE9E =0 H GrEl FA01| 56 =0 § I9HREE -l 5ud 6 SuE 9eE B e a3 w

According to the Sapru Committee, universal franchise 1tself was education that would lead to

[Question ID = 257][Question Description = 147_00_General_17_SEPT22_Q47]

1.

2.

3.

4.

Emergence of national leaders

[Option ID = 1025]
Eesponsible polities

[Option ID = 1026]
Substantial political freedom

[Option ID = 1027]

The rejection of colonial attempts.

ST SO S

[Option ID = 1028]



1.

3)

Read the passage and answer questions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political interests. It too made the
case for umversal suffrage. The Sapru commitiee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes in such matters could occur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if reiterated the idea that the very exercise
of franchise would provide the education necessary to enable a responsible politics, The
support for universal franchize could also be seen In proclamations by major political actors,
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwrned from South Africa in 1915 and swiftly became
the face of India’'s entire effort at emancipation. beldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulterated franchise for both men
and women. The contibution of B.R. Ambedkar, who took up the cause of lower sections of
the society during the anti-colomial struggle was significant in this regard. His focus on the
1szue of social divizsions made him sensitive to resirictions on the right to vote. Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower

sections of the society.

FefETEa = F a7 TR e 46-50 F I Arau-

Y A F TR 1945 T WS 3 4| T B 9 TeE00E w6 SEETE & WY O S99
AT I WA FAA D GEAE TAE U1 SHE GEHiNS maigsn & e B 4 @udE e o gy
At J T A F T TeEiE e gee U 7, SH-ae S 6 SGEE B E, WA v
o B 9 9= 90 STeE @R 9 F AR § A S | 5 6 TREE 9 43R e owe
TS TS FASAT ] AT § 6 AEEiEE Baawy o W 56 g A T A7) TgEal T A
ANEFR W UiAEH F Agd FE99 W FEI0 F SuEAEE TEEl F =9 § 96| 9eagw md) 1915 |
SiET SR W w2 A AW SEES % S0 § 9Wd 290 T T AR H HE0 54 T 9] 3 1030 |
2l e e i e e e e o s e e e T | o o R B e 2 B e e e B (0 o L e O
STEE AEEEN i P F0 H 4l 01| 56 A6 § SUHavEn - #9699 F SR 5EE 6 e a6
F‘FHTI maa‘m’mc_wr?n . M‘cﬁ?r?lma?qnm-{a'rl HIHII:i-hﬁTIT_IFIT?F'HﬁHT_‘qTTITH?Er_F'
a0 % HOEE W WEEE] 0 SEAEie S AEEeE e SR [T AN SR T ST
FEAHA] T FU TATH F F 9 T aGEAEE aEem

The opposition to urnversal franchise in India was considered as a colomal effort to

AWE B HEHE SANSRE & =0 T A T F B s 1 5 e e meE T an?

[Question ID = 258][Question Description = 148_00_General_17_SEPT22_Q48]
Suppress the demand for fresdom

[Option ID = 1029]

2. Deny gender parity in voting.

HACH § S0 -SHE § TR F
[Option ID = 1030]

Divide the society on the basis of elitism.
ST F ATEE O TTS S e

[Option ID = 1031]

4. Demean the role of political parties.

[Option ID = 1032]



4)

Read the passage and answer questions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political mnterests. It too made the
case for universal suffrage. The Sapru committee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes in such matters could occur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if veiterated the idea that the verv exercise
of franchise would provide the educatien necessary to enahble a responsible politics, The
support for universal franchise could also be seen In proclamations by major political actors,
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwined from Scouth Africa in 1915 and swiftly became
the face of India's entire effort at emancipation. boldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulterated franchise for hoth men
and women. The contribution of B.R. Ambedkar, who took up the cause of lower sections of
the =ociety during the anti-colonial struggle was signifieant in this regard. His focus on the
1ssue of social divisions made him sensitive to resirictions on the right to vote. Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower
sections of the society.

FfetEs = i afen W T W 46-50 F I A

= At 1 fad 1945 1 v =2 4 = Fhw o aedies T F e oy o gaeeE
AFAT F WG FAA N GEAE T 97| SHE GEUiE GAaET F AEe w4 SdE e o oy
giats 3 = e 5 T aedites afifefe a== w8 2, SE-owm @i = slEm 2w, S 0
T | 9ET 9REA P STeHE! BRR 3 F AE 8 A WA 2| 95 6 TRgR o An 9w
Lo B 15 e i = e IR e B2 11 i 0 1 e e T v Bt | 2 R 122 i e =
UAMEERN T UiASal B wnd WEAT W OFET0 %k ANEAEE TEE F 29§ 9 9EEE T 1915 |
Sian AFE A w2 4 6 =dEE ® 56 F AEa % A9 T Al 8 w9 54 T 4| e 1039 7
R T T i TR T oA a6 B | 3 e 6 9% TR AW el e e
Sl HETaEy R HOIE =0 H GiEl FA01| 56 =0 § SHaeEn- Sl ®ud % SE 5eE B e i #
4 AGER T NaET] WA gaeEie 9 ANNEEE e SR [ AR SR T ST
SRR T AD AT F O AN T AT A Al

Mohandas Gandhi supperted universal right to vote. iznoring

AreAerE Ml F TetetEs 2 3 FEd 98 Fad 50 IEaEEE gaigsn F 992 oot

[Question ID = 259][Question Description = 149_00_General_17_SEPT22_Q49]

1.

2.

3.

The importance of economic status.

[Option ID = 1033]
The benefits of divisionary politics.

EHTTRE] A s
[Option ID = 1034]
The 1ssue of 1lliteracy

[Option ID = 1035]
The growing disaffection in the society,

HETA ° = FEa

[Option ID = 1036]



5)

Read the passage and answer questions from 46 to 50

The Sapru Committee report was published in 1945, It was an Indian attempt to propose a
constitutional scheme to accommodate different domestic political interests. It too made the
case for umversal suffrage. The Sapru commitiee claimed that even though political
circumstances had changed, for example. the party structure had evolved. substantial
changes in such matters could occur only affer full responsible government had been
introduced. it said. In keeping with this rationale, if reiterated the idea that the very exercise
of franchise would provide the education necessary to enable a responsible politics, The
support for universal franchize could also be seen In proclamations by major political actors,
Nationalist leaders viewed restrictions on the franchise as colonical attempts to curb growing
disaffection. Mohandas Gandhi. who retwrned from South Africa in 1915 and swiftly became
the face of India’'s entire effort at emancipation. beldly declared in 1939 that he was
unworried by illiteracy. He said he would plump for an unadulterated franchise for both men
and women. The contibution of B.R. Ambedkar, who took up the cause of lower sections of
the society during the anti-colomial struggle was significant in this regard. His focus on the
1szue of social divizsions made him sensitive to resirictions on the right to vote. Qualifications
based on education and property during colonial rule meant the defacto exclusion of lower

sections of the society.

FefETEa = F a7 TR e 46-50 F I Arau-

=y A F1 fE 1945 § v 2 @ TR B W TeEies w6 F e+ WY o S
Wﬂmﬁﬁmmwwmlmmmmﬁmwﬁmmmew
amts 3 == e fF 7=l T T W S R, FH-TeE T 6 SGEE R 2, WA 0
Wﬁﬁmqiudﬂtﬁlwquaﬂ??ﬁm_ﬁﬂmnlmﬁmwmﬁhﬁﬁmﬁ
T AT FAIEAT w1 STl | i SEEiEE SaieEn o T S5 SE@] A ST A7) WEEe At A
ANEFR W UiAEH F Agd FE99 W FEI0 F SuEAEE TEEl F =9 § 96| 9eagw md) 1915 |
SiET SR W w2 A AW SEES % S0 § 9Wd 290 T T AR H HE0 54 T 9] 3 1030 |
2l e e i e e e e o s e e e T | o o R B e 2 B e e e B (0 o L e O

STEE AEEEN i P F0 H 4l 01| 56 A6 § SUHavEn - #9699 F SR 5EE 6 e a6
T2e1 &1 SETA T3E A A1 AW, SEEE i GEE I0EE 91| AETSE GEEE FOgE T 396 B T I

9 % HOwE W WEES] F UA SEaasie 99 A e $ AR e 6@ 5 T g
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The passage highlights
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[Question ID = 260][Question Description = 150_00_General_17_SEPT22_Q50]

1.

2.

3.

4.

The role of political actors in India.
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[Option ID = 1037]
The demerits of universal suffrage

[Option ID = 1038]
B. B. Ambedkar's effort for emancipation of lower sections of society.
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[Option ID = 1039]
The political evelution in India.
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[Option ID = 1040]






